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14.10.1; 90a ("8 mwn) 2 91a (51p)
Note: as we saw in the 4" chapter, the ordinance of 757 223 namns only applies if distributing it will not interfere with NP 7INT AWIT? — S0
there must be a surplus 177, at least, with which to fulfill Awrr. Our 810 disucsses whether the 72112 itself can be considered 127 1m0
I ’» mwn: N2> payment to multiple wives/heirs
a  If he was married to 2 women and died, 1%t wife (and her heirs) has 1¢t claim on assets for n21n3
i Question: if 27 wife is vaIn, does she keep it?
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Answerl: noan is valid, since the nwn uses the phrase nnmp

(a) Implication: if a later n"pa grabs assets, the earlier n”pa cannot confiscate them for himself

(b) Block: nnmp may have sense of ultimate, not relative, precedence (as per law of nwy1: na% onp 1)
Answer2: noan is invalid, since the mwn didn’t allow for it (argument e silentio)

(a) Implication: if a later n"pa grabs assets, the earlier n"ya may confiscate them for himself

(b) Block: perhaps the language is simply parallel construction

b  If he was married to 2 women; wife A died and then he died, heirs of 2! wife have prior claim
i Implications:

1

3

1737 112 N applies with 2 wives even if only one wife predeceasd the husband

(a) Consideration: we're not concerned about squabbling, since 1 set of heirs are coming to collect
their portion of the n21n3 and the other is collecting the surplus part

(b) Source: since the ruling is priority (nTp) =if there’s enough for both, they all receive

(c) Challenge (»wx 27): perhaps 772 n21n2 doesn’t apply in such a case, and pnmp refers to the
essential inheritance, not 1R Nana

2N itself can be considered the 92>7 anmn to allow collection of 1157 1732 N2MN3 (see note)

(a) source: omission of condition that there be a surplus 7177 besides the na1n3

(b) Challenge (»wx 27): perhaps n21M3 cannot be considered 727 9mn — but in this case, there was a 737 1N

7”2 N2> is not collected from seized properties (Tay1vn)

(a) source: else, the heirs of the 1t wife could collect 772 namn3 from the heirs of the 274 (Tayywn)

ii  reconsideration: Rn»11 regarding 1’Na NNXY 1NN NNR (as per our RYD) is a DXRIN NPIYNN:

1

if wife A dies, then husband dies:
(a) o112 heirs of wife A can tell heirs of wife B — you are 210 *9p3, collect the n21n3 and leave
(b) »™:7"2 a3 has already left the domain of wife A and they have no more claim
(c) Assumption: dispute is as to whether 772 n21n3 applies to 1mN2 ’R1 N2 NNR
(d) Redirection: na1 reported that the students held:
(i) - all agree that 7”2 N2> exists in such a case
(if) Rather: dispute is as to whether 7271 91mn nowy) NN (and same applies to a n"va -
meaning, if there is a debt out on the estate, that money counts towards 2177 1mn)
(iif) na1 himself - all agree that n”pa counts (since they’re all equally indebted) — dispute only
about nam>
(e) challenge (901 37): if so, y" should stipulate that if there’s a 737 1mn, they both collect
(f) rather: dispute is about 1mna 'Ry N1 'R — paralleling dispute between nnan/v™:
(1) mma’ry NN

1. ©man: the sons of the 2nd wife collect iR nan>

2. w™:if there’s 771 amn, both groups collect 172 and divide the rest

3. assumption: their dispute is about ymna 'R 17N 'R

4. rejection: all agree that 7”2 n21n exists in such a case

5. rather: dispute as to whether 05010 may serve as 77 1mn

6. rejection: w™" explicitly requires ypap for 717 1Mn

7. rather: dispute as to whether n7ay1wn 0’021 are reckoned towards 937 9Imn

8.  rejection: language shoul read “since there’s 727 9mn”, not “if there’s 737 1mn”
9. rather: dispute as to whether less than a 137 is sufficient

10. rejection: w™ explicitly stated 7177

11. rather: choice #7 or #5 — and flip original Xn»12 — W™ requires PN 722 XYpIpn 17

iii  ruling ymna’®1 N2 'R — 772 N2IN2 exists and N2> is considered 12>7 AN

1
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Question: why state both; once we’ve ruled that n2mn3 is considered ammn, clearly 772 namn3 exists in

case of 1MN2 'RY 1PN 'R

Answer: if we only stated 1mn w1 N2INI, R"70 that refers to a case where there are 3 wives, and the last one
has a girl (not w1 n1); but when they all inherit, we are concerned about »x»R - 9"np
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